Addition 4+3=7

o+0=11
o+5=5+0O
b+5=0+4




Addition 4+7+6=17

LT ‘ (7 4+ 7+6 = 10+7]
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53 = [17]




Addition 36+25=61




Subtraction 5-3=2

[2]z2]s]efs[e][7]a]s]u] +15 |6 |7(3]9]"




Subtraction 8-5=3




Subtraction 48-7=41
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4D-T=41

Subtraction 41-26=15
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Multiplication 3X4=12
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tiplication 3X4=12

Multiplication 4X15=60
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10x 4=40

5x 4=20
40+20=60

A numbe( line can also be used
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Multiplication 3X23=69
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3x23 3x20=60
SN 3x3= 9
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Division 6+2=3

6+2=3
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Division 25+5=5




Division 6+2=3
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3 groups of 2

Division 15+3=5
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15+35=5

Division 23+10=2.3
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123+10=2.3




Division 2544+12=212




